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Instructions: i) Check the question paper for fairness of printing. If there is lack of
fairness, inform the Hall Supervisor immediately.

ii) Use blue or black ik to write and underline and pencil to draw

PART - |

i) Answer all questions. 15x1=15
i) Choose the Correct answer from the four alternatives and write
the option code and the corresponding answer.

electric field E=10x i exists in a certain region of space. Then the
htial difference V=V,-V, where V, is the potential at the origin and

diagram.

poy
V, BB the potential at x =2m is: : :
a) b) -20V c) +20V d)-10Vv

e capacitors each of the capacitance “C” are given, the resultant capacitance

@ can be obtained by using them.
in series

b) &lin parallel _
c) o in parallel and third in series withithis combination
d)i ,_- in series and third in parallel acrogs the combination.
3. THekinternal resistance of a cell 2.1 V. which gives a current of 0.2 A through
‘reiftance of 10Q is {
a)iR O b)0.5Q c)08Q d)1.0Q
4. Maghetic field has the unit of :
a) N m! b) NAZ m"" P c)NA'm! d) NAm"

ular current carrying coil of Radius R At what point from the centre of the
I@long its axis the magnetic induction wi aberltirnes the field atthe centre
g coil. - g \&

| - g R IR
3 R by 2R /3 B sl
i ) 2R 0 . Q)

e V.
¥ : 5
QEREcntaneous values of a temating cuffent and voltage in a circuit are
 sin(100m1) Aandi= = sin(100z1) V. | The average power in watts
imed in the circuit is !

3
b) 4£ c)

a
.
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2 .8 XlI -PHYSICS
. Which of the following i is NOT true for elec&omagnetlc waves? :
4 FOR
a) it transport energy #le' WLEORR AR <
b) it transport momentum 7 L
c) it transport angular momentum .

d) in vacuum, it travels with different speedbiwhlch depend on their frequency

. Aplane glass is placed over a various coloUred letters (wofet green, yellow, red)
The letter which appears to be raised morezgs
a) red b) yellow ' c) green . .. . d) violet '

Whlere the two Ilght waves have a phase aﬂerfeqce of - -—3—- is _

wavelength 4100A |s Iare ;
a)Aonly b) both Aand B
The spectral series of hydrogen atom
a) Balmer series
c) Lyman series 2
. A system con5|sts of N nucleus at t— ) ]
of a half - life (that is, at time [t—. 1T

c) ali these metals  d) none &
ich fall in visible light region is
~ b) Paschen series

: d) Brackett serles -
he number of nuclei remalmng afteighal

o By’ e Sl "

¥4

2)0 TR S S
The internationally accepted freq i8ncy deviation for the purpose of FM b
aj 78kHZ™ " b) 68 kHz j e BOKHz: '

a) Peacock feather
¢) Grain of sand

b) Peacock beak
d) Skin of the Whale




16.
17.

18.
19.

20.
2
22. .
23

24,

25,

26.
27.
28.

29,
30.
al.
2.
33.

' Derive the efgression for de - Broglle wavelength of matter waqes
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PART - II
swe" any 6 Questions:
(Q :9-'5“0!1 0 23 is Compulsory) g
fVhatis the genera) definition of electric drp'i‘Ie moment'? #
rom the given circuit, ' : .

ar

ird i) Equivalent emf of the combination li
ii) Equivalent internal resistance NP ST R
;‘
R don S
LR g
: 8
Stte Ampere'’s circuital law. . . ' {] {
A_' raight metal wire crosses a magnetlc fteld of flux 4 mWhb in a time 0:¢ 4 ‘s:hin
thelinag nitude of the emf induced in the wire.
Wht is shortsightedness? What:is its re_medy? * -8 el (G
Defifle the term “Threshold frequency” : . .
Writ@any four properties of cathode fay. (RS =
In afransistor connected in. the common base conflguratlon the values of ”%
=17 -A I_=0.95mA. Calculate the value current gain in CB mode. @’
Gwe Ry two uses of RADAR ' . | iy P o
MGt R L T R T B SR
Answ any 6 Questions: : ol st"&-_f-_ila a6 a |

Conside} a pomt charge + g piaced at the orlgm and another point charge 2q
placed A a distance of 9m from the charge +q. Deten‘mne the distance of the
point frorghe -2q at which electrrc potential is zero. - 0 _' g,\,
Explain thig determmatlon of the rnal res:stance ofacell usmg voltmeter _ _
Compare @a, para and ferro - ‘magnetism: =, : ; g ‘
Explain the : ase relationship between voltage dnd current ina pure resistive | }
circuit with Rhasor and wave diagrams. ' VR v g %»gz -
Explain the frinciple construction and working of Thermoplle N %g '

plic representatlon of alpha decay, beta decay and gamma decay‘

Give the sy
State and proge De Morgan's First and Second theorems

A compound | roscope has a magmflcatlon of 30. The focal length of eye pie
is 5cm. Assdlling the final image to be at least distance of distinct vision, ﬁnd

the magnificatiin produced by the objective.




35.

37.

38.

. @) Derive the expression for resultamt capacuance when capacitors arg
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PART - IV ;
5x5=29

Answer all Questions:

connected in series and in parallel.
(Or)

b) Obtain lens maker’s formula and lens formula.
a) State Kirchhoff's rule. Obtain the condition for bridge balance in Wheatston -

brldge.
(Or)

b) Give the constructton and working of photo emissive cell.

applications
a) Derive the expression for force on a current carrying conductor placed i

magnetic field. Discuss the special cases also define Fleming's left hand
(Or)

b) Usmg ‘Bohr's atom model derive an expression for radius and velock
electron in an orblt

Explain

energy stored in an inductor is U i, 2 3 L’

" (Or)
b) What are rectifiers? Explain in detail the constructlon and worku @ of Full
wave rectifier with its circuit diagram and necassary wave forms.
a) Describe the Fizeau’s method to determine speed of light.
Qg

(A
sin
the Equation for refrative index of material of the prism.n = Gy 2
explaining angle of minimum devnat;on using graph. sin
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